ORS KART RACING
Avenue des Paquiers 22

03275302 25
scx@orskartracing.com

LISTE DE 2072 St-Blaise www.orskartracing.com
PRIX 2018-01
VOITURES VOITURES
CAO02H Porsche 956 LH - n.33 3rd LeMans 1984 Fr.| 67.00f |CA10L McLaren F1 GTR - n.27 Donington 1997 Fr.| 71.00
CAO3I Porsche 962C LH - n.9 Le Mans 1990 Fr.|] 67.00] |CA23E Porsche 911 GT1 EVO98 - n.7 FIA GT 1998 Fr.| 71.00
CAO06H Sauber C9 - n.62 Le Mans 1987 Fr.| 67.00] |CA22D Lola B09/60, B10/60, B11/80 - n.12 Le Mans 2010 Fr.| 73.00
CA08Z Lancia LC2-84 - White kit Fr.| 45.00| |CA22E Lola B09/60, B10/60, B11/80 - Goodwood 2013 Fr.| 69.00
CAO08F Lancia LC2-84 - n.6 Brands Hatch 1000 Km 1984 Fr.] 69.00] |CA24C Audi R18 TDI - n.3 Le Mans 2011 Fr.| 69.00
CAO9H Porsche 956 KH - n.20 Hockenheim 1000Km 1985 Fr.|] 69.00] |CA31B Lola Aston Martin DBM1-2 - n.22 Le Mans 2011 Fr.| 69.00
CA13E Jaguar XJR12 - n.61 1st Daytona 1990 Fr.| 67.00] |CA31Z1 Lola Aston Martin DBM1-2 - White kit Fr.| 53.00
CA17D Porsche 962 KH - n.1 1st Brands Hatch 1990 Fr.| 67.00] |CA31Z2 Lola Aston Martin DBM1-2 - White kit - IL version Fr.| 53.00
CA19E Toyota 88C - n.45 WEC Fuji 1000 Km 1988 Fr.|] 67.00] |CA31C Lola Aston Martin DBM1-2 - n.008 Le Mans 2009 Fr.| 71.00
CA21E Lancia LC2-85 - n.6 1000Km Brands Hatch 1986 Fr.] 67.00] |CA33Z Audi R8 LMP - White Kit Fr.| 53.00
CA21F Lancia LC2-85 - n.54 Le Mans 1990 Fr.] 69.00] |CA33A Audi R8 LMP - n.77 1st Race of a Thousand Years Fr.| 71.00
CA21ZA Lancia LC2-85 - White Kit Fr.] 50.00] |CA33B Audi R8 LMP - n.4 Le Mans 2001 Fr.| 71.00
CA25F Porsche 962 IMSA - n.1 Sebring 1988 Fr.] 69.00] |CA38A Audi R18 Ultra - n.4 3rd Le Mans 2012 Fr.| 71.00
CA28C Nissan R89C/R90CK - n.85 AJSPC Suzuka 500Km Fr.] 67.00] |CA39A Lola B12/80 - n.31 Le Mans 2012 Fr.| 71.00
CA28D Nissan R89C / R90CK - n.25 Le Mans 1989 Fr.] 67.00] |CA39Z Lola B12/80 - White Kit Fr.| 53.00
CA28E Nissan R89C / R90CK - n.27 JSPC 1991 Fr.] 69.00] |CA39B Lola B12/80 - n.29 Le Mans 2012 Fr.| 71.00
CA34A Porsche 962C 85 - n.11 Le Mans 1987 Fr.| 67.00f |CA35B Alfa Romeo 155 V6 TI - n.27 Norisring 1994 Fr.| 69.00
CA34B Porsche 962C 85 - n.4 Le Mans 1988 Fr.|] 67.00] |CA35Z Alfa Romeo 155 V6 TI - White Kit Fr.| 53.00
CA34z Porsche 962C 85 - White Kit Fr.| 55.00f{ |CA35D Alfa Romeo 155 V6 TI - n.26 Nurburgring 1994 Fr.| 71.00
CA111 Alfa Romeo 33/3 - n.8 1000Km Buenos Aires 1972 Fr.| 69.00f |CA35C Alfa Romeo 155 V6 TI - n.14 DTM Donington Park Fr.| 71.00
CA16C Chaparral 2E - n.65 1st Governor's Trophy 1966 Fr.] 67.00] |CA36A Opel Calibra V6 - DTM ITC 1995 Fr.| 71.00
CA18D Ford GT40 - n.11 1st Daytona 1967 Fr.|] 67.00] |CA36Z Opel Calibra V6 - White Kit Fr.| 53.00
CA20C Ford MKII - n.5 3rd Le Mans 1966 Fr.| 67.00] |CA36B Opel Calibra V6 - 1st n.17 Norisring ITC 1996 Fr.| 71.00
CA26C McLaren M8D - n.2 Can-Am Laguna Seca 1971 Fr.] 60.00] |CA36C Opel Calibra V6 - n.2 Avus Ring 1995 Fr.| 71.00
CA26D McLaren M8D - n.12 Can-Am Mosport 1971 Fr.] 67.00] |CA40A Alfa Romeo 155 V6 Tl - n.8 Avus Ring 1995 Fr.| 71.00
CA26E McLaren M8D -n.5 1st Can-Am Watkins Glen 1970 Fr.|] 67.00] |CA45A Alfa Romeo 155 V6 Tl - n.19 Silverstone 1996 Fr.| 71.00
CA27B Matra MS 670 B - n.9 3rd Le Mans 1974 Fr.| 67.00 COLLECTION VAINQUEUR DES 24H DU MANS EDITION LIMITE
CA27Z Matra MS 670 B - White Kit Fr.| 47.00| |CW15-BOX |Targa Florio Winner 1971 box Fr.| 29.00
CA37A Matra MS 670 B - n.10 Le Mans 1973 Fr.| 69.00| |CW14 R18 e-tron quattro - n.1 Le Mans Winner 2012 Fr.| 81.00
CA37Z Matra MS 670 B - White Kit Fr.|] 53.00] |CW18 MS670B n.7 1st Le Mans 1974 Fr.| 81.00
CA14Z Nissan R390 GT1 - White Kit Fr.| 45.00] |CW19 n.8 1st Le Mans 2000 Fr.| 81.00
CAO05F Nissan R390 GT1 - n.21 Test Le Mans 1997 Fr.|] 71.00] |CW20 962 85 - 1st n.17 Le Mans 1987 Fr.| 81.00
CA10I McLaren F1 GTR - n.44 Le Mans 1997 Fr.|] 69.00| |CwW21 MS670B - #11 Le Mans Winner 1973 Fr.| 81.00
PIECES DE RECHANGE VOITURES PIECES DE RECHANGE VOITURES
CS01P R8C tearproof parts Fr. 6.00| |CS12V R8C Reloaded transparent parts Fr. 6.00
CS01T-2 R8C chassis step2 Fr. 6.00| |CS15B 787B body kit Fr.| 24.00
CS02B1 956LH body kit Fr.] 24.00|] |CS15T-60 787B chassis AW compatible EVO6 Fr. 8.00
CS02P/2 956C/956KH/962C/962KH/962IMSA tearproofpar Fr. 6.00|] |CS15V 787B transparent parts Fr. 6.00
CS02T-60B |956 LH / KH chassis AW compatible EVO6 Fr. 8.00| |CS16B1 2E body kit Fr.| 24.00
CS02v 956C/ 956KH/ 962C/ 962 KH transparents parts Fr. 6.00| |CS16P/2 2E tearproof parts Fr. 6.00
CS03B1 962C body kit Fr.] 24.00|] |CS16T-60 2E chassis EVO6 compatible Fr. 8.00
CS09B1 956KH body kit Fr.| 24.00( |CS16V 2E transparent parts Fr. 6.00
CS17B1 962KH body kit Fr.| 24.00( |CH71 2E CWO08 Replacement spoiler (2x) Fr. 2.00
CS25B 962 IMSA body kit Fr.| 24.00| |CH71LX 2E Polycarbonate spoiler Fr. 5.00
CS34B 962C 85 body kit Fr.| 24.00| |CS18B GT40 body kit Fr.| 24.00
CS03T-60C [962LH/ KH/ IMSA/ 85 chassis AW comp. EVO6 Fr. 8.00| |CS18P GT40 tearproof parts Fr. 6.00
CS04P R390 tearproof parts Fr. 6.00| |CS18T-60B |GT40 EVOG6 chassis (rev.2) Fr. 8.00
CS04V R390 transparent parts Fr. 6.00| |CS18V GT40 transparent parts Fr. 6.00
CS14B R390 body kit Fr.| 24.00|] |CS20B MKII body kit Fr.| 24.00
CS05B1 C9 body kit Fr.|] 24.00|] |CS19B 88C body kit Fr.| 24.00
CS05P/2 C9 tearproof parts (rev.1) Fr. 6.00] |CS19P 88C tearproof parts Fr. 6.00
CS05V C9 transparent parts Fr. 6.00|] |CS19T-60B |88C chassis AW compatible EVO6 - Rev.B Fr. 8.00
CS05T-60B [C9 chassis AW compatible EVO6 REV.b Fr. 8.00| |CS19V 88C transparent parts Fr. 6.00
CS07B XJR6/9 body kit Fr.| 24.00| |CS22B1 LMP body kit Fr.| 24.00
CS07P XJR6/9/12 tearproof parts Fr. 6.00| |CS22B2 LMP Inline body kit Fr.| 24.00
CS07V XJR6/9/12 transparent parts Fr. 6.00| |CS22P LMP tearproof parts Fr. 6.00
CS13B XJR12 body kit Fr.| 24.00( |CS22V LMP transparent parts Fr. 6.00
CS13T-60 XJR6/XJRI/XJR12 chassis AW comp. EVO6 Fr. 8.00| |CS22T-60C |LMP chassis AW compatible EVO6 (rev. 4) Fr. 8.00
CS08B LC2-84 body kit Fr.| 24.00[ |CS39V B12/80 transparent parts Fr. 6.00
CS08P LC2-84 tearproof parts Fr. 6.00|] |CS39LA B12/80 CA39a decorated inline body Fr.| 32.00
CS08T-60B |LC2 chassis AW compatible EVO6 (Rev.B) Fr. 8.00| |CS39B2 B12/80 Inline body kit Fr.| 26.00
CS08V LC2-84 transparent parts Fr. 6.00] |CS23B 911 GT1 EVO98 body kit Fr.| 24.00
CS21B LC2-85 body kit Fr.| 24.00| |CS23P 911 GT1 EVO98 tearproof parts Fr. 6.00
CS21P LC2-85 tearproof parts Fr. 6.00| |CS23T-60 911 GT1 EVO98 chassis AW EVO6 compatible Fr. 8.00
CS21V LC2-85 transparent parts Fr. 6.00| |CS23V 911 GT1 EVO98 transparent parts Fr. 6.00
CS10B1 F1 GTR body kit Fr.| 24.00| |CS24B1 R18 TDI body kit Fr.| 24.00
CS10P F1 GTR tearproof parts Fr. 6.00| |CS24B2 R18 TDI Inline body kit Fr.| 24.00
CS10T-60B [F1 GTR chassis AW compatible EVO6 (rev. 3) Fr. 8.00| |CS24P R18 TDI tearproof parts Fr. 6.00
CS10V F1 GTR transparent parts Fr. 6.00| |CS24T-60C |R18 chassis AW compatible EVOG (rev.c) Fr. 8.00
CS11B1 33/3 body kit Fr.| 24.00( |CS24V R18 TDI transparent parts Fr. 6.00
CS11P 33/3 tearproof parts Fr. 6.00| |CS26B M8D body kit Fr.| 24.00
CS11T-60B [33/3 chassis EVO6 (rev.b) Fr. 8.00| |CS26P M8D tearproof parts Fr. 6.00
CS11V 33/3 transparent parts Fr. 6.00| |CS26T-60 M8D chassis EVO6 compatible Fr. 8.00
CS12B R8C Reloaded body kit Fr.| 24.00( |CS26V M8D transparent parts Fr. 6.00
CS12P R8C Reloaded tearproof parts Fr. 6.00| |CS27B MS 670 B body kit Fr.| 24.00
CS12T-60 R8C Reloaded chassis AW comp. EVOG6 (Ver.2) Fr. 8.00| |CS27P MS 670 B tearproof parts Fr. 6.00




PIECES DE RECHANGE VOITURES

PIECES DE RECHANGE VOITURES

CS27T-60 MS 670 B EVOG6 chassis Fr. 8.00| |CH91 R18 replacement cockpit Fr. 5.00
CS27V MS 670 B transparent parts Fr. 6.00| |CH92 88C replacement cockpit Fr. 5.00
CS28b1 R89C body kit Fr.| 24.00( |CH93 Lola replacement cockpit Fr. 5.00
CS28P R89C tearproof parts Fr. 6.00| |CSO02IL 956C/KH/962C/KH Gr.C Polycarbo. Cockpit Fr. 4.00
CS28T-60 R89C chassis EVO6 compatible Fr. 8.00| |CS04LX Polycarbonate cockpit for R390 Fr. 5.00
CS28V R89C transparent parts Fr. 6.00| |CSO05IL C9 Polycarbonate Cockpit Fr. 4.00
CS28B1 R89C body kit Fr.|] 27.00| |CSO7IL XJR9 / XJR12 Polycarbonate Cockpit Fr. 4.00
CS29B R18 e-tron quattro body kit Fr.] 24.00| |CSO08IL LC2 Polycarbonate Cockpit Fr. 4.00
CS29P R18 e-tron quattro spare parts Fr. 6.00] |CS10IL F1 GTR Polycarbonate Cockpit Fr. 4.00
CS29vV R18 e-tron quattro transparent parts Fr. 6.00| |CS12IL R8C Reloaded Polycarbonate cockpit Fr. 4.00
CS33P R8 LMP 2000 tearproof parts Fr. 6.00] |CS15LX 787B Polycarbonate cockpit Fr. 5.00
CS33V R8 LMP 2000 transparent parts Fr. 6.00| |CS18IL GT40-MKIl Polycarbonate Cockpit Fr. 4.00
CS33T-60 R8 LMP chassis AW compatible EVO6 Fr. 8.00| |CS19IL 88C Polycarbonate Cockpit Fr. 4.00
CS33B R8 LMP 2000 body kit Fr.|] 24.00] |CS22LX Lola LMP Polycarbonate Cockpit Fr. 5.00
CS31P DBR1-2 tearproof parts Fr. 6.00| |CS23LX 911 GT1 EVO98 Polycarbonate Cockpit Fr. 5.00
CS31T-60 DBR1-2 chassis AW compatible EVO6 Fr. 8.00| |CS24LX R18 Polycarbonate cockpit Fr. 5.00
CS31V DBR1-2 transparent parts Fr. 6.00] |CS28LX R89C Polycarbonate Cockpit Fr. 5.00
CS31B1 DBR1-2 body kit Fr.|] 24.00] |CS35LX 155 V6 Tl Polycarbonate Cockpit Fr. 5.00
CS31B2 DBR1-2 inline body kit Fr.|] 24.00] |CS36LX Calibra V6 Polycarbonate Cockpit Fr. 5.00
CS35P 155 V6 Tl spare parts Fr. 6.00| |S01-XA1 Polycarbonate cockpit for Carrera Audi A5 DTM Fr. 6.00
CS35V 155 V6 Tl transparent parts Fr. 6.00| |S02-XA1 Polycarbo. cockpit Carrera BMW M3/M4 DTM Fr. 6.00
CS35T-60 155 V6 Tl inline chassis Fr. 8.00| |S03-XA1 Polycarbo. cockpit Carrera Mercedes C DTM Fr. 6.00
CS35B Alfa 155 body kit (93/94) Fr.| 24.00| |S04-XA1 Polycarbo. cockpit Scalextric Audi Sport S1 Fr. 5.00
CS35VLX 155 V6 Tl polycarbonate transparent parts Fr. 5.00| |S05-XA1 Polycarbo. cockpit Scalextric Lancia Delta S4 Fr. 5.00
CS36T-60 Calibra V6 inline chassis Fr. 8.00| |S06-XA1 Polycarbo. cockpit Scalextric Bentley GT3 Fr. 5.00
CS36P Calibra V6 spare parts Fr. 6.00| |S07-XA1 Polycarbo. cockpit Scalextric Aston Vantage Fr. 5.00
CH58 33/3 updated cockpit Fr. 5.00| |S08-XA1 Polycarbonate cockpit for Carrera Ferrari 458 Fr. 5.00
CH78 2E replacement cockpit Fr. 5.00| |S09-XA1 Polycarbo. cockpit Scalextric McLaren MP4-12 Fr. 5.00
CH80 C9 replacement cockpit Fr. 5.00| |S11-XA1 Polycarbo. cockpit Scalextric BMW Z4 GT3 Fr. 6.00
CH81B 956/962 replacement cockpit (ver.3) Fr. 5.00| |S18-XA1 Polycarbo. cockpit Scalextric Porsche 911 RSR Fr. 6.00
CH86 F1 GTR replacement cockpit+rear+front spoilers Fr. 6.00| |S22-XA1 Polycarbo. cockpit Scalextric Audi R8 LMS GT3 Fr. 6.00
CH87 XJR6/9/12 replacement cockpit Fr. 5.00
COURONNES Anglewinder

MOTEURS GA26 26 teeth, hex screw M2, ergal, @16mm Fr. 9.00
MNO8CH Boxer/2 21,5K RPM, 340g*cm, 12V Fr. 17.00| |GA34 34 teeth, hex screw M2, ergal, @16mm Fr. 9.00
MNO9CH Flat6 20K RPM, 200g*cm, 12V Fr.|] 18.00| |GA36 36 teeth, hex screw M2, ergal, @16mm Fr. 9.00
MN11H-2 Flat-6R 22K RPM, 220g*cm, 12V Fr.] 18.00 Inline
MN13CH Flat-6S 22,5K RPM, 230g*cm,12V, 12.5W Fr.|] 18.00| |GI23-AL 23 teeth Step2 crown, Al insert Fr. 8.00
MN14H Flat-6RS 24K RPM, 240g*cm ,12V, 15W, asym Fr. 18.00| |[GI23-BZ 23 teeth Step2 crown, Bz insert Fr. 6.00
MX15 V12/4 21K RPM, 150g*cm,12V Fr.|] 17.00| |GI24-AL 24 teeth, Step2 crown, Al insert Fr. 8.00
MX16 V12/4 23K RPM, 170g*cm,12V Fr.| 17.00| |Gl24-BZ 24 teeth, Step2 crown, Bz insert Fr. 6.00
MX17 V12/4-29K RPM, 160g*cm, no pinion, no cables Fr.|] 17.00| |GI25-AL 25 teeth Step2 crown, Al insert Fr. 8.00

PIGNONS GI25-BZ 25 teeth Step2 crown, Bz insert Fr. 6.00
PI108 Brass pinions 8 teeth &5.5mm (2x) Fr. 4.00| |[Gl26-AL 26 teeth, Step2 crown, Al insert Fr. 8.00
PI109 Brass pinions 9 teeth @5.5mm (2x) Fr. 4.00| |[Gl26-BZ 26 teeth, Step2 crown, Bz insert Fr. 6.00
PI10 Brass pinions 10 teeth @5.5mm (2x) Fr. 4.00| |[GIl27-AL 27 teeth Step2 crown, Al insert Fr. 8.00
PI11 Brass pinions 11 teeth @5.5mm (2x) Fr. 4.00| |(Gl27-BZ 27 teeth Step2 crown, Bz insert Fr. 6.00
P15510015 [Brass 10 teeth @5.5mm (2x) - internal @1.5mm Fr. 4.00| |[GI28-AL 28 teeth Step2 crown, Al insert Fr. 8.00
PI1559015 Brass 9 teeth @5.5mm (2x) - internal @1.5mm Fr. 4.00| |(Gl28-BZ 28 teeth Step2 crown, Bz insert Fr. 6.00
PIMX Brass pinions 8+9+10+11 teeth @5.5mm (4x) Fr. 7.00| |GI29-AL 29 teeth Step2 crown, Al insert Fr. 8.00
P160100 Brass pinions 10 teeth @6mm (2x) Fr. 4.00| |[GI29-BZ 29 teeth Step2 crown, Bz insert Fr. 6.00
P16010015 [Brass 10 teeth @6mm (2x) - internal &1.5mm Fr. 4.00| |[GI30-AL 30 teeth, Step2 crown, Al insert Fr. 8.00
PI160110 Brass pinions 11 teeth @6mm (2x) Fr. 4.00| |[GI30-BZ 30 teeth, Step2 crown, Bz insert Fr. 6.00
PS10 Brass pinions 10 teeth @6.5mm (2x) Fr. 4.00] |GIX1 24/26/27/28/30 teeth, Step2 crowns, Bz insert Fr.| 29.00
PS11 Brass pinions 11 teeth @6.5mm (2x) Fr. 4.00 Inline Offset
PS12 Brass pinions 12 teeth @6.5mm (2x) Fr. 4.00f [GO23-AL 23 teeth Step2 crown, Al insert Fr. 6.00
PS13 Brass pinions 13 teeth @6.5mm (2x) Fr. 4.00] |GO23-BZ 23 teeth Step2 crown, Bz insert Fr. 6.00
PSMX Brass pinions 10+11+12+13 teeth @6.5mm (4x) Fr. 7.00| |GO24-AL 24 teeth Step2 crown, Al insert Fr. 6.00
PI16510E Ergal pinion 10 teeth @ 6.5 mm (1x) Fr. 5.00| |G0O24-BZ 24 teeth Step2 crown, Bz insert Fr. 6.00
PI6511E Ergal pinion 11 teeth @ 6.5 mm (1x) Fr. 5.00| |GO25-AL 25 teeth Step2 crown, Al insert Fr. 6.00
PI16512E Ergal pinion 12 teeth @ 6.5 mm (1x) Fr. 5.00| |GO25-BZ 25 teeth Step2 crown, Bz insert Fr. 6.00
PI67110 Brass pinions 11 teeth @6.75mm (2x) Fr. 4.00f [GO26-AL 26 teeth Step2 crown, Al insert Fr. 6.00
PI167120 Brass pinions 12 teeth @6.75mm (2x) Fr. 4.00] |GO26-BZ 26 teeth Step2 crown, Bz insert Fr. 6.00
PI7012E Ergal pinion 12 teeth @ 7 mm (1x) Fr. 5.00| |GO27-AL 27 teeth Step2 crown, Al insert Fr. 6.00
PI7013E Ergal pinion 13 teeth @ 7 mm (1x) Fr. 5.00| |GO27-BZ 27 teeth Step2 crown, Bz insert Fr. 6.00
PI7014E Ergal pinion 14 teeth @ 7 mm (1x) Fr. 5.00| |GO28-AL 28 teeth Step2 crown, Al insert Fr. 6.00

G028-BZ 28 teeth Step2 crown, Bz insert Fr. 6.00

COURONNES Anglewinder GO29-AL 29 teeth Step2 crown, Al insert Fr. 6.00
GA1626E 26 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |G029-BZ 29 teeth Step2 crown, Bz insert Fr. 6.00
GA1626-PL |26 teeth, hex screw M2, plastic, d16mm Fr. 9.00] |GO30-AL 30 teeth Step2 crown, Al insert Fr. 6.00
GA1627E 27 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |GO30-BZ 30 teeth Step2 crown, Bz insert Fr. 6.00
GA1627-PL |27 teeth, hex screw M2, plastic, 316mm Fr. 9.00 Sidewinder
GA1628E 28 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |GS06 36 teeth, hex screw M2, ERGAL, g18mm Fr. 9.00
GA1628-PL |28 teeth, hex screw M2, plastic, d16mm Fr. 9.00| |GS1831 31 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1629E 29 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |GS1832 32 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1629-PL |29 teeth, hex screw M2, plastic, d16mm Fr. 9.00| |GS1832-PL |32 teeth, hex screw M2, @18mm, plastic Fr. 9.00
GA1630E 30 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |GS1833 33 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1630-PL |30 teeth, hex screw M2, plastic, d16mm Fr. 9.00| |GS1834 34 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1631E 31 teeth, lightened, hex screw M2, ergal, @16mm Fr. 9.00| |GS1835 35 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1832E 32 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00| |GS1836 36 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00
GA1833E 33 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00| |GS1934 34 teeth, lightened, hex screw M2, ergal, @19mm Fr. 9.00
GA1834E 34 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00| |GS1936 36 teeth, lightened, hex screw M2, ergal, @19mm Fr. 9.00
GA1835E 35 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00| |GS1938 38 teeth, lightened, hex screw M2, ergal, @19mm Fr. 9.00
GA1836E 36 teeth, lightened, hex screw M2, ergal, @18mm Fr. 9.00




COURONNES Flat Anglewinder

JANTES

GA1524-PL |24 teeth, hex screw M2, plastic, @15mm Fr. 9.00 14.3x8mm
GA1525-PL |25 teeth, hex screw M2, plastic, @15mm Fr. 9.00] |wW14308015A |Alu.@14.3x8x1.5 wheels, M2 grub, silver (2x), 1.2g - ex P{ Fr. 9.00
GA1526-PL |26 teeth, hex screw M2, plastic, @15mm Fr. 9.00| |wW14308015P |[Plas.14.3x8x1.5 wheels, 0.59g (4x) - ex WH1215-PI Fr. 5.00
GA24LH 24 teeth, hex screw M2, ergal, long hub, @15mm Fr. 9.00 14.4x11.5mm
GA26LH 26 teeth, hex screw M2, ergal, long hub, @15mm Fr. 9.00 |W14411515A Alu.g14.4x11.5x1.5 F1 wheels, M2 grub, 1.5g (2x) - ex P/I Fr. 9.00
KITS RAPPORT 15.8x8.2mm
KK01B Inline 228, 15.8x8.2mm wheels Fr.] 17.00| |w15808225P |Plas.15.8x8.2x2.5 wheels, grey (4x), 0.6g - ex PA17-PI | Fr. 5.00
KK02B Sidewinder Z36 @19, 15.8x8.2mm wheels/1mm spacers [Fr.[ 19.00| |[w15808215A [Alu.315.8x8.2x1.5 wheels, M2 grub, silver (2x), 1.4g - ex| Fr. 9.00
KK03C Old Carrera, inline Z26+Z9, 17.3x9.75 wheels/1mm space| Fr.| 19.00| |w15808225M [Magn.15.8x8.2x2.5 wheels, M2 grub, 0.9g (2x) - ex PA17{Fr.| 12.00
KK04C Sidewinder Z36 @19, 17.3x9.75 wheels/1mm spacers Fr.] 19.00| |w15808225A |Alu.@15.8x8.2x2.5 wheels, M2 grub, (2x) - ex WH1050-Al[ Fr. 9.00
KK05B Sidewinder Z34 @18, 15.8x8.2mm wheels Fr. 19.00| [w15808215AF |Alu.15.8x8.2x1.5 wheels, M2 grub, double shoulder, 1.1{ Fr. 12.00
KK06C Modern Formula 1, inline Z24, 14.4x11.5mm wheels Fr.| 19.00 |w15808215AH [Alu.&15.8x8.2x1.5 wheels, M2 grub, double shoulder holg Fr.| 12.00
KK07C Inline 228, 17.3x9.75mm wheels + 1mm spacers Fr.] 19.00| |w15808215M |Magn.215.8x8.2x1.5 hollow wheels, M2 grub, 0.8g (2x) - ¢ Fr.| 13.00
KK08B Inline Z27, 15.8x8.2mm plastic wheels Fr.] 11.00| |w15808215P |Plas.¢15.8x8.2x1.5 wheels, 0.7g (4x) - ex WH1210-P| Fr. 5.00
KK09D Anglewinder 232, Z12 pinion, 17.3x9.75x1.5mm wheels |Fr.] 19.00 15.8x10.2mm
KK10B Anglewinder 1.0mm offset conversion kit Fr. 16.00| [w15810215AH |Alu.@15.8x10x1.5 wheels, M2 grub, double should holed { Fr. 12.00
KK11 Anglewinder conversion kit Fr. 16.00| [w15810215AF |Alu.@15.8x10x1.5 wheels, M2 grub, double shoulder, 1.3d Fr. 12.00
KK12B Sidewinder 1mm offset conversion kit Fr.] 15.00| |w15810215M |Magn.215x10x1.5 hollow wheels, M2 grub, 0.9g (2x) - ex | Fr.| 13.00
KK13B Sidewinder 0,5mm offset conversion kit Fr.]| 15.00 16.5x8.2mm
KK14C Flat Anglewinder 1.0mm Offset Conversion Kit Fr.] 16.00| |w16508215A |Alu.@16.5x8.2x1.5 wheels, M2 grub, silver (2x), 1.5g - ex [ Fr. 9.00
KK16 Anglewinder PCR conversion kit Fr.] 16.00| |w16508225P |Plas.16.5x8.2x2.5 wheels, dark grey (4x), 0.76g - ex PA[ Fr. 5.00
KK15B Scalextric GT, sidewinder Z36 @19, 17.3x8.2mm wheels [Fr.[ 19.00| |w16508215M [Magn.216.5x8.2x1.5 hollow wheels, M2 grub, 0.75g (2x) -| Fr.| 13.00
KK17 Inline Z26, 17.3x8.2mm short hub wheels Fr.| 20.00 16.5x10.2mm
AXES - PALIERS-CALES |W16510215M Magn.216.5x10x1.5 hollow wheels, M2 grub, 0.9g (2x) - e| Fr.| 13.00
CH56B Bronze spherical bushings (6x) Fr. 9.00 16.9x8.2mm
PA01-45 Axle 3/32"x45mm (2x) Fr. 4.00 |W16908215M Magn.216.9x8.2x1.5 hollow wheels, M2 grub, 0.78g (2x) -| Fr.| 13.00
PA01-48 Axle 3/32"x48mm (2x) Fr. 4.00 17.3x8.2mm
PA01-48R Axle 3/32" x48mm, narrow center (2x) Fr. 5.00] |w17308215M [Magn.217.3x8.2x1.5 hollow wheels, M2 grub, 0.8g (2x) - ¢ Fr.| 13.00
PA01-51 Axle 3/32" x51mm (2x) Fr. 4.00] [w17308205P |Plas.217.3x8.2x0.5 wheels, 0.75g (4x) - ex WH1254-P| | Fr. 5.00
PA01-51H Axle 3/32" xX51mm, hollow (2x) Fr. 5.00] |wW17308225A |Alu.17.3x8.2x2.5 wheels, M2 grub, 1.6g (2x) - ex WH104 Fr. 9.00
PA01-51R Axle 3/32" xX51mm, narrow center (2x) Fr. 5.00] |w17308215A |Alu.¢17.3x8.2x1.5 wheels, M2 grub, 1.6g (2x) - ex WH11{Fr. 9.00
PA01-54 Axle 3/32" x54mm (2x) Fr. 4.00] |w17308225P |Plas.17.3x8.2x2.5 wheels, 0.7g (4x) - ex WH1071-P| Fr. 5.00
PA01-54H Axle 3/32" x54mm, hollow (2x) Fr. 5.00 17.3x9.7mm
PA01-54R Axle 3/32" xX54mm, narrow center (2x) Fr. 5.00] |wW17309715A |Alu.¢17.3x9.75x1.5 wheels, M2 grub, 1.6g (2x) - ex PA62{ Fr. 9.00
PA02 Bronze bushing (2x) Fr. 5.00] |w17309715M [Magn.217.3x9.75x1.5 hollow wheels, M2 grub, 0.9g (2x) | Fr.| 13.00
PA11 Bronz bushing PROSLOT type Fr. 5.00 17.3x10mm
PA12 Brass bushing CARRERA old type Fr. 5.00 |W17310005P Plas.217.3x10x0.5 light wheels black 0.85g (4x) - ex WH1 Fr. 5.00
PA25 Stopper for anglewinder axles Fr. 4.00 Wheels for sponge tires
PA26 Plastic CNC machined pulley (2x) Fr. 4.00] [w13609515A |Alu.013.6x9.5x1.5, M2 grub, Eq.15.8mm (2x) - ex WH121 Fr. 8.00
PA27 Doubled sided Bronze bushing (4x) Fr. 8.00| |W14209515A |Alu.@14.2x9.5x1.5, M2 grub, Eq. 16.5mm (2x) - ex WH11| Fr. 8.00
PA28 Alluminium pulley (2x) Fr. 6.00] |W15009515A |Alu.@15x9.5x1.5, M2 grub, Eq.17.3mm (2x) - ex WH1212 Fr. 8.00
PA32 Aluminium bushing (2x) Fr. 8.00 INSERTS POUR JANTES
PA39 Independent Front Wheels Axle Fr. 6.00| |PAO3B BBS type, black, for PA17/24 (4x) Fr. 5.00
PA47 Set de cales for hubs and bushings - 0.10 / 0.25 Fr. 7.00] |PAO3G BBS type, gold, for PA17/24 (4x) Fr. 5.00
PA51 Set de cales for hubs - 1mm thick (10x) Fr. 5.00] |PAO3S BBS type, silver, for PA17/24 (4x) Fr. 5.00
PA52 Set de cales for hubs and bushings - 0.60 Fr. 7.00( |PA13B F1, BBS type, black, for PA20 (4x) Fr. 5.00
PA57 Light aluminium stopper for anglewinder setup (2x) Fr. 6.00| |PA13G F1, BBS type, gold, for PA20 (4x) Fr. 5.00
PAG8 Bronze bushing for Carrera and Scalextric (4x) Fr. 8.00| |PA13S F1, BBS type, silver, for PA20 (4x) Fr. 5.00
SP17 Brass terminals 1,6 L5mm (10x) Fr. 4.00 [PA30 C9 type for PA17/24 (4x) Fr. 5.00
PNEUS PA31 XJR type for PA17/24 (4x) Fr. 5.00
PTO3 S1 compound, slick, dwg 1028 (4x) Fr. 8.00| |PA34 LC2-84 type for PA17/24 (4x) Fr. 5.00
PTO06 S1 compound, slick, dwg 1027 (4x) Fr. 8.00| |PA36 F1 GTR/R8C type for PA18/19/38 (4x) Fr. 5.00
PTO7 Z0 compound, slick, dwg 1027 (4x) Fr. 8.00| |PA41 33/3 type for PA24/33 (4x) Fr. 5.00
PT1088C1 C1 compound, slick, dwg 1088 (4x) (EX PT20) Fr. 8.00| |PA44 787B type for PA17/24 (4x) Fr. 5.00
PT1152C1 C1 compound, slick, dwg 1152 (4x) Fr. 8.00| |PA45 Wheel Inserts 2E type for PA24/33 (4x) Fr. 5.00
PT1159C1 C1 compound, slick, dwg 1159 (4x) Fr. 8.00| |PA46 GT40 type, unpainted, for PA17/24 (4x) Fr. 5.00
PT1167C1 C1 compound, slick, dwg 1167 (4x) Fr. 8.00| |PA48 88C type for PA17/24-PA43 (4x+2x) Fr. 5.00
PT1167S2 S2 compound, slick, dwg 1167 (4x) Fr. 8.00| |PA53 LC2-85 type for PA17/24+PA43 (4x+2x) Fr. 5.00
PT1170E1 E1 compound, slick, dwg 1170 (4x) Fr. 8.00| |PA55 P956/962 type for PA17 (4x) and PA43 (2x) Fr. 5.00
PT1171N22 N22 compound, slick, dwg 1171 (4x) Fr. 8.00| |PA60 911/ Lola type for PA18/19/38 (4x) Fr. 5.00
PT1172N22 N22 compound, slick, dwg 1172 (4x) Fr. 8.00| |PA61 R18 type for PA18/19/38 (4x) Fr. 5.00
PT1207F22 F22 compound, slick, dwg 1207 (4x) Fr. 8.00| |PA63 M8D type for 15x8mm wheels (4x) Fr. 5.00
PT1207N18 N18 compound, slick, dwg 1207 (4x) Fr. 8.00| |PA64 MS670B type for @ 15,8/14.3mm wheels (2+2x) Fr. 5.00
PT1207P6 P6 compound, slick, dwg 1207 (4x) Fr. 8.00( |PAGS R89C type for @16.5/15.8mm wheels (2+2x) Fr. 5.00
PT1209SP30 [SP30 compound, sponge tires, dwg 1209 (4x) Fr.| 10.00| |PA71 155 V6 Tl speedline type for @16.5/15.8mm wheels (2+2+ Fr. 5.00
PT1214S2 S2 compound, slick, dwg 1214 (4x) Fr. 8.00| |PA75 155 V6 Tl OZ type for @16.5/15.8mm wheels (2+2+2) Fr. 5.00
PT1228C1 C1 compound, slick, dwg 1228 (4x) Fr. 8.00| |PA77 Calibra V6, BBS type for @15.8mm wheels (4+2) Fr. 5.00
PT13 P3 compound, slick F1, dwg 1068 (4x) Fr. 8.00 AIMANTS
PT15 Z0 compound, slick, dwg 1067 (4x) Fr. 8.00| |CNO1 Neodimium 25x8x2 magnet Fr. 4.00
PT16 S1 compound, slick F1, dwg 1068 (4x) Fr. 8.00| |CNO2 Neodimium 25x8x2.30 C Shaped magnet Fr. 5.00
PT17 S2 compound, slick, dwg 1042 (4x) Fr. 8.00| |CNO6 Neodimium Standard magnet for motor mount Fr. 5.00
PT18 S2 compound, slick, dwg 1046 (4x) Fr. 8.00| |CNO7 Neodimium Race magnet for motor mount Fr. 5.00
PT19 Z1 compound, slick, dwg 1096 (4x) Fr. 8.00| |CNO8 Neodimium magnet for CH09 @4x1mm (8x) Fr. 5.00
PT2120C1 C1 compound, threaded, dwg 1021 + 1020, (2x + 2x) Fr. 8.00( |CNO9 Neodimium magnet for CH09 @4x1.5mm (8x) Fr. 5.00
PT23 P5 compound, slick F1, dwg 1068 (4x) Fr. 8.00| |CN10 Neodimium magnet for CH09 @6x1.5mm (8x) Fr. 5.00
PT24 P6 compound, slick, dwg 1027 (4x) Fr. 8.00|] |CN11B Neodimium 25x8x4mm magnet (oXigen) - 2x Fr.| 12.00
PT25 P6 compound, slick, dwg 1028 (4x) Fr. 8.00 PLOMBS
PT26 F15 compound, slick, dwg 1171 (4x) Fr. 8.00| |SP23 Tungsten ballast, motor mount shape, 2.5g Fr. 5.00
PT27 F22 compound, slick, dwg 1171 (4x) Fr. 8.00| |SP24 Tungsten ballast, cylinder 6.3*1mm, 3.5g (6x0.58g) Fr. 5.00
PT28 F30 compound, slick, dwg 1171 (4x) Fr. 8.00| |SP25 Tungsten ballast, putty, 10g Fr. 9.00
PT29 F22 compound, slick F1, dwg 1068 (4x) Fr. 8.00
PT34 C1 compound, slick, dwg 1045 (4x) Fr. 8.00
PT35 C1 compound, slick, dwg 1140 (4x) Fr. 8.00




SUPPORTS MOTEURS SUSPENSIONS
CH13C IL reverse motor mount 0.0mm offset Fr. 8.00| |CHO09 Magnetic suspension kit Fr. 8.00
CH24B IL reverse motor mount 1.0mm offset Fr. 8.00| |CH47B Spring suspension kit - for all type of motor mounts Fr. 8.00
CH48 IL Boxer/Flat motor mount Fr.| 10.00f |CHS55A Soft springs for CH47b suspension (8x) Fr. 5.00
CH48B IL Boxer/Flat motor mount offset 0.0mm Fr.| 10.00( |CH55B Medium springs for CH47b suspension (8x) Fr. 5.00
CH49B IL Boxer/Flat motor mount offset 1.0mm Fr.| 10.00f |CH55C Ultra soft springs for CH47b suspension (8x) Fr. 5.00
CH60B AW Boxer/Flat motor mount 0.5mm - EVO6 - HARD Fr. 8.00( |CH55D Short ultra soft springs for CH47b suspension (8x) Fr. 5.00
CHG61 AW Boxer/Flat motor mount 0,0mm - EVO6 - HARD Fr. 8.00( |CH77 Aluminium End of Run Nuts (4x) Fr. 6.00
CH65 SW motor mount 1mm Offset EVO6 Fr. 8.00 VISSERIE
CH67 SW motor mount 0.5mm offset - EVO6 Fr. 8.00( |PA37 Hexagonal screw M2 L6 (10x) Fr. 6.00
CH68 SW motor mount 0.75mm offset Fr. 8.00( |PA40 Hexagonal screw M2 L3 (10x) Fr. 6.00
CH69 SW motor mount 0.75mm offset EVO6 Fr. 8.00( |PAS50 Hexagonal screw M2 L8 (10x) Fr. 6.00
CH70 IL reverse motor mount 0.5mm offset (with tab) Fr. 8.00| |PA54 Hexagonal screw M2 L10 (10x) Fr. 6.00
CH72 Plastic retainer nuts (6x) Fr. 5.00( |PA58 Hexagonal screw M2 L2 (10x) Fr. 6.00
CH74 AW LMP Boxer/Flat motor mount 1.0mm - EVOG6 - MEDI| Fr. 8.00( |PA66 Torx T3 L3mm screw (10x) Fr. 6.00
CH75 AW LMP Boxer/Flat motor mount 0.5mm - EVO6 - MEDIU Fr. 8.00| |CHO8 Set of screws Fr. 4.00
CH76 AW LMP Boxer/Flat motor mount 0.0mm - EVOG6 - MEDI| Fr. 8.00( |CH28 Set of screws for cars 8 short, 4 long Fr. 4.00
CH79 Chassis common parts Fr. 3.00| |CH39 Set of screws for HRS2 chassis Fr. 5.00
CH82 AW Boxer/Flat motor mount 1.0mm - EVO6 - HARD Fr. 8.00( |CH41 Replacement motor fixing screws Fr. 4.00
CH110 IL reverse motor mount 0.5mm offset (without tab) Fr. 8.00| |CH51 Metric screws 2.2x8mm, small head (10x) Fr. 4.00
CH114 IL Boxer/Flat motor mount offset 0.5mm Fr.| 10.00f |CH52 Metric screws 2.2x8mm, big head (10x) Fr. 4.00
CH115 SW motor mount 1mm EVOB - bearing version - Use with| Fr. 8.00( |CH53 Metric screws 2.2x5.3mm, small head (10x) Fr. 4.00
SPO7 Spacers for step 3 chassis Fr. 4.00] [CH54 Metric screws 2.2x5.3mm, big head (10x) Fr. 4.00
SP08 Adaptor V12 to RX shape motor Fr. 4.00] |CH54B Metric screws 2.2x5.3mm, chamfered large head (10x) | Fr. 4.00
CHASSIS HRS CH59 Set of suspensions screws L9+L13 big head (2+2) Fr. 4.00
CH20 HRS Body to chassis adaptor cups (4X) Fr. 3.00| |CH89 Metric screws M2.5x6mm for Carrera, brass (10x) Fr. 5.00
CH33B Starter Kit Sidewinder HRS2 Fr.| 19.00] |CH90 M2x4mm motor fixing, titanium, 1.5mm button hexagonal { Fr. 8.00
CH34B Starter Kit Inline Reverse HRS2 Fr.| 19.00( |CH106 Set of screws for motor mounts (8x) Fr. 4.00
CH35 Starter Kit Anglewinder HRS2 Fr.] 19.00 GUIDES
CH36 Body to Chassis adaptor cups + spare HRS2 parts Fr. 6.00| |CHO6 Pickup Fr. 4.00
CH37 Main Inline HRS2 chassis Fr. 9.00( |CHO7 Pickup for wooden track Fr. 5.00
CH38 Main Anglewinder HRS2 chassis Fr. 9.00| |CH10 Race pickup for plastic track Fr. 5.00
CH42 HRS2 Body to chassis adapter cups (4x + 2x) Fr. 5.00| |CH17 Pickup short shaft Fr. 4.00
CH50 SCX digital adapter for HRS2 chassis Fr.| 45.00| |CH26 Clip "Racing" Pickup Fr. 4.00
CH57B Body to Chassis HRS2 adapter Fr.|] 10.00| |CH66 Clip Racing Pickup - rev. B Fr. 5.00
CH32C Ready To Run HRS2 chassis, anglewinder Fr.| 45.00| |CH84 LMP screw pickup for wooden track Fr. 5.00
CH31D Ready To Run HRS2 chassis, 0.5mm sidewinder Fr.| 48.00f |CH85 Advanced blade screw pickup Fr. 5.00
CH109C Ready To Run HRS2 chassis, 0.5mm inline Fr.| 48.00( |CH88B LMP screw racing pickup rev. C Fr. 5.00
POIGNEES CH111 LMP 4WD screw racing pickup Fr. 5.00
SCPO3A Spare red plastic parts Fr. 5.00| |CH112 LMP screw racing pickup for wooden track Fr. 5.00
SCPO03B Spare blue plastic parts Fr. 5.00 CABLES - TRESSES - OEUILLETS
SCPO03C Spare yellow plastic parts Fr. 5.00| |SP04 Brassterminals 1,5 L4mm (10x) Fr. 4.00
SCPO04A Complete trigger set Fr.| 12.00( |SP18 Tin plated copper braid (1m) Fr. 6.00
SCP04C Replacement fuses 3,15A fast for SCP-1 (5x) Fr. 3.00| |SP19 Copper braid (1m) Fr. 6.00
SCP04D Retriggerable fuse 1,35A for SCP-1 (1x) Fr. 3.00| |SP22B Silicon Cable (1m) Fr. 6.00
SCPO4E Replacement silicon cable without banana plugs Fr.|] 12.00| |SP29 LMP copper braids (8x) Fr. 4.00
SCP201Al SCP2 Universal Analog controller, Home Racing Fr.| 149.00( |SP37 Pre-cut brass tabs for LMP pickups (6x) Fr. 6.00
SCP201BC |Universal Analog cartridge, home use Fr.| 64.00 SYSTEME 4WD
SCP201D SCP-2 Universal digital controller Fr.| 155.00( |CH94 0.08mm spacers for 4WD system (6x) Fr. 3.00
SCP201E Universal digital cartridge Fr.| 81.00| |CH95 Hubs for 4WD front wheels (2x) Fr. 6.00
SCP201F SCP2 Electronic controller without cartridge Fr.| 102.00| |CH96 Bearings for 4WD front wheels (2x) Fr. 9.00
SCP201FG  [SCP-2 Analog controller, high current, common ground | Fr.| 180.00| [CH97 Snap rings for 4WD front wheels (10x) Fr. 2.00
SCP201G Analog cartridge, common ground (positive wiring) high c{ Fr.| 84.00| |[CH98 Tensioner, flanges and spacers for 4WD system Fr. 2.00
SCP201H SCP-2 Electronic controller, Oxigen cartridge Fr.| 175.00| |CH99 Z16 pulley for 4WD system, cyan, (2x) Fr. 4.00
SCP201L Cartridge radio interface for SCP controller (CRI) Fr.] 90.00| |CH100 Z17 pulley for 4WD system, black, (2x) Fr. 4.00
SCP201M SCP-2 Eletronic Controller, Oxigen Cartridge, Telemetry | Fr.[ 225.00| |CH101 Z18 pulley for 4WD system, yellow, (2x) Fr. 4.00
SCP202A Complete red shell for SCP2 Fr.] 11.00| |CH102 Z85 toothed belt for 4WD system Fr. 4.00
SCP202B Complete blue shell for SCP2 Fr.] 11.00| |CH103 Z110 toothed belt for 4WD system Fr. 4.00
SCP202C Complete yellow shell for SCP2 Fr.] 11.00| |CH104 Z111 toothed belt for 4WD system Fr. 4.00
SCP202D SCP?2 yellow cartridge cover Fr. 5.00|] |CH105 Flanged Bearings for 4WD tensioner (2x) Fr. 8.00
SCP202E Complete lemon yellow shell for SCP2 Fr.] 11.00| |CH107 Z16 pulley for 4WD system, cyan, for Mg wheels, (2x) Fr. 4.00
SCP204A SCP2 complete trigger set Fr.] 12.00| |CH108 Z94 toothed belt for 4WD system Fr. 4.00
LIVE TIMMING CH113 Z108 toothed belt for 4WD system Fr. 4.00
TSO01A Live Timing Box Fr.| 67.00| |PA69 Wheel inserts kit for 4WD system &17.3mm (2+2x) Fr. 5.00
TS02A Track Interface Fr.|] 50.00| |PA72 @15.8mm plastic front wheels for 4WD system (2x) Fr. 5.00
TS02B Track to Live Timing cable Fr. 5.00| |PA72AS @15.8mm plastic assembled front wheels for 4WD (2x) |[Fr.[ 22.00
TSO03A Sector Time Expansion cable Fr. 6.00| |PA73 @16.5mm plastic front wheels for 4WD system (2x) Fr. 5.00
OXYGEN SYSTEM /SSD PA73AS @16.5mm plastic assembled front wheels for 4WD (2x) |[Fr.| 22.00
0201B1 In-car controller (type B) Fr.| 44.00| |PA74 @17.3mm plastic front wheels for 4WD system (2x) Fr. 5.00
0202A Radio cartridge for SCP controller Fr.|] 90.00| |PA74AS @17.3mm plastic assembled front wheels for 4WD (2x) |[Fr.[ 22.00
0203A Lane changer driver board for Ninco / Carrera Fr.| 35.00 OUTILLAGE
0204A PC USB Dongle Fr.| 106.00| |SP21 Professional extractor press - rel. 2 Fr.| 60.00
0205B 7.2V 2x14500 Li-ion battery holder for radio cartridge Fr. 9.00| |SP27 Extraction and counter plate spares for SP20/SP21 Fr. 9.00
0205C Oxigen battery charger (3.6V 1x14500 Li-ion) Fr.| 22.00| |SP28 Multif. brass tool steel plug and M3 screw spares for SP21Fr.| 18.00
SP15B Universal Hornby SSD chip Fr.] 30.00| |SP30 Professional upgrade kit for extractor press SP20/SP21 |Fr.| 31.00
SP32 Spare IR LED on wires for O2 and SSD chips Fr. 4.00| |SP31B Professional mini puller rev.2 Fr.| 34.00
SP33 Spare hall sensor for O2 chip Fr. 7.00| |SP38 Steel plug @1.3mm for extractor SP21 / SP31b (1x) Fr. 5.00
SP34 Spare lighting kit connectors for O2 chips (3x) Fr. 4.00] [PAO6 Hexagonal wrench M2 0.95 mm Fr. 2.00
KIT LUMIERES PAG7B Adjustable torque hex M2.5 screwdriver Fr.| 17.00
SP11 Lighting Kit 2 white front + 2 rear red lights module Fr.] 11.00| |PA67C Adjustable torque Torx T3 screwdriver Fr.| 18.00
SP16C Universal lighting kit for Analog, O2 and SSD cars Fr.| 18.00| |PA76 Adjustable torque hex M2 screwdriver Fr.| 18.00
SP26 Switch and mixed electronic parts for lighting kits Fr. 8.00 MAINTENANCE
SP42 Spare leds and cables for lighting kits Fr. 6.00| |SP39 Gear grease (15g) Fr.| 13.00
PUBLICITE SP40 Perfomance oil for motors (20ml) Fr.| 13.00
banner [1m Slot.it Banner (h:80cm) [Fr] 2.00] [sP41 Motor cleaner and protector (50ml) Fr.[ 18.00




PACKAGING

SP09 Complete transparent box Fr. 8.00
SP35 Plastic spare parts containers d.17, h=50mm (x4) Fr. 3.00
SP36 Clamshell box for 1:32 slot cars (1x) Fr. 5.00
A
ll l . [ N'l r
POLICAR - VOITURES
CARO1A 312PB n.3 Monza 1972 Fr.[ 69.00
CAR01B 312PB n.2 3rd Monza 1972 Fr.[ 69.00
CAR02A Lotus 72 - n.2 1st Hockenheim 1970 Fr.| 69.00
CAR02B Lotus 72 - n.3 Oulton Park 1970 Fr.| 69.00
CAR02C Lotus 72 - n.8 Monaco 1972 Fr.] 69.00
CARO04A March 701 - n.10 2nd Spa 1970 Fr.[ 69.00
CARO03B F40 - n.34 Mine GT JGTC 1994 Fr.[ 69.00
CAR04B March 701 - n.1 1st Jarama 1970 Fr.| 69.00
CAR02Z Lotus 72 - white kit Fr.[ 53.00
CARO02E Lotus 72 - n.29 Brands Hatch GP 1972 Fr.| 69.00
POLICAR - PIECES DETACHEES
PCS01P 312PB tearproof parts Fr. 6.00
PCS01V 312PB transparent parts Fr. 6.00
PCS01T 312PB EVOG6 chassis Fr. 8.00
PCS01I 312PB kit wheel inserts (2+2x) Fr. 5.00
KITO1 312PB body kit Fr.| 24.00
PCS02P1 Lotus 72 spare parts type A Fr. 6.00
PCS02P2 Lotus 72 spare parts type B Fr. 6.00
PCS02P3 Lotus 72 spare parts type C Fr. 6.00
PCS02V Lotus 72 transparent parts Fr. 6.00
PCS02T Lotus 72 chassis Fr. 8.00
PCS02I Lotus 72 kit wheel inserts (2+2x) Fr. 5.00
PCS02B1 Lotus 72 body part type A Fr. 5.00
PCS02B2 Lotus 72 body part type B Fr. 5.00
PCS03P F40 tearproof parts Fr. 6.00
PCS03V F40 transparent parts Fr. 6.00
PCS03T F40 EVOG6 chassis Fr. 8.00
PCS03I F40 kit wheel inserts (4+4x) Fr. 6.00
PCS03CP F40 plastic cockpit Fr. 7.00
PCS03CL F40 Polycarbonate cockpit Fr. 5.00
PCS03B F40 body kit Fr.| 24.00
PMXO01 F1 DFV-25K, 24500RPM motor, 95g*cm, 5.9W open/clos{ Fr.| 17.00
PPI429015  [9 tooth @4.2mm pinion, internal @:1.5mm, brass, (2x) Fr. 5.00
PGI2516-PL |Plastic gear Z25/Z16 with shaft Fr. 5.00
PGS8016 Rear axle with 16 tooth steel spur gear Fr. 6.00
PGS8017 Rear axle with 17 tooth steel spur gear Fr. 6.00
PGS8018 Rear axle with 18 tooth steel spur gear Fr. 6.00
PPAO1 Set of bushings for Policar F1 motor mounts (4x) Fr. 6.00
PPAQ2 Stopper for Policar F1 models Fr. 4.00
PWH1217-PL  |Pl @16x11.7 early 70's F1 rear wheels, 0.8g, (4x) Fr. 5.00
PWH1218-PL |Pl @13.8x7.9 early 70's F1 front wheels, 0.5g, (4x) Fr. 5.00
PWH1234-Al  [Al @16x11.7 early 70's F1 rear wheels, M2 grub, 1.8g, (24 Fr. 8.00
PPT1219C1 C1 compound, F1 early 70's rear tyres, dwg 1219 (4x) Fr. 8.00
PPT1219F22 |F22 compound, early 70's F1 rear tyres, dwg 1219 (4x) | Fr. 8.00
PPT1220C1 C1 compound, early 70's F1 front tyres, dwg 1220 (4x) Fr. 8.00
PCHO3 F1 wide motor mount Fr.] 10.00
PCHO04 Motor fixing screws, M1.4x2.5mm (4x) Fr. 4.00
PCHO05 Metric screws M2.2x3.8mm, brass, (5x) Fr. 4.00
PCHO06 Metric screws M2x7mm, brass, (5x) Fr. 5.00
PCHO7 Metric screws M2x5mm, brass, (5x) Fr. 5.00
PCHO1 F1 narrow motor mount Fr.] 10.00
PCHO1AS F1 assembled narrow motor mount Fr.| 34.00
PCHO3AS F1 assembled wide motor mount Fr.| 34.00

TVA 7.7% incluse
Liste de prix sous réserve de changement sans préavis




